July 31, 2003

To: Brad Nelson

From: Wayne Reiersen

Subject: Keystoning

During yesterday’s meeting, you made two comments about the keystoning algorithms, which I took to heart.  The first was that the bend radius should be calculated at the center of the coil.  I repeated the calculations using that value. The second was that you believed that scaling the change in height due to keystoning by the factor WH/R is more appropriate that W2/R.  Intuitively, I agreed with you so I repeated the calculations using this as the scaling parameter.  What I found was that the fit to the “easy way” day had a markedly different slope than the fit to the “hard way” data, as shown in the figure below.
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The slope for the “hard way” data is about 50% higher than for the “easy way” data, which explains why including the aspect ratio term (the width/height) had the effect of unifying the data – the aspect ratio the “hard way” (1.22) is about 50% higher than the “easy way” (0.82).  It might be more palatable to apply aspect ratio as a scaling term in the slope parameter, but the end result would be about the same.

Cc: Williamson, Zarnstorff, Neilson, Brooks

